ETRE SO CIE
NiBFeicEffibhd: THEENED 54
X B4 1% #HBh%A
"Eg BERS-HE| 3,800 M
= RS BERS-HE| 3,800 M
5 KB ERE -t 3,800 1
iR BERS-#iE 3,800 M
(m = RS 6,000
el = BERS 6,600 1
T8 BERS 7,700 M
WEAHS BERS 7,500 M
+ = RS 8,700
5 BES 'Y 4,100 [
INEE BER 9,700 M
£ 3,700 M
o BERS 10,100 H
£ 3,300 M
i1 L BAF- A 2,700 [
H oyl HiE 600 M
X TS e k{2 2,400 [
BYE BERS 5,000 M
" EAR BERS 5,400 M
= Az 2,200 1
Ok BEE RS 7,100 H
BZH 1,700 [
o BRS 9,500 H
= A 13,600 [
i 5% 1,800 [
5 e HIZE 500 M
4/ 500 M
ERE 12,800 [
s £ 4,300 M
A 8,400
é BRS 13,500 M
s e =L 7,100 1]
AREE AHR 4,900 [
1§ 7,700 [
BRS 15,100 M
n 2 9,300 H
e AR 2,700 4
1§ 5,100 [
=RE BRS 9,500 H
& 3,600 [

5535 D6
ERE R E B4 TR EN T O B4
X B4 175 THBNEE
(= ERS-#El 3,000 M
= HES ERS-#El 3,000 M
5 KE ERE-HE| 3,000 [
FiA BERE-#E 3,000 M
Az5 BERE 4,600 M
A BRE 5,100 1
5 BRE 6,000 [
RS BRS 5,800 [
[|=]
g =55 EJ?% 6,800
E¥: 3,200 M
[|=]
NEE BRE 7,600 [
EY: 2,900 [
[|=]
g BRE 7,900 1
EY: 2,500 [
i i BARE-IA| 1,800 [
H Al B 400 M
¥ S
K e e ki 1,600 [1
BEFE BRE 3,300 [
[|=]
" ERE BRE 3,600 [
= i 1,400 [
|=]
Ok B EJ{ 4,700 [
= | 1,100 [
|=]
. BERE 6,400
g I 9,100 [
x 5% 1,200 [
5 a4 HIZE 300 M
G| 300 M
BERE 8,600
mZE EY: 2,900 [
AR 5,600 M
X BERE 9,000 M
=] :
ik B B 4,700 M
AREB 3,300
AR 5,100
BERE 10,000 M
Eme B 6,200 M
AEB 1,800 M
AR 3,400 M
=]
=5E EEJ?% 6,400 M
B 2,400 M

2018 (FR30) F4RA1H KY#EA

2018 (FFERk30) F4RA1H KYE A




